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Plot [’ ECopt’]

3500 7 —@— ECopt

3000 -

2500

2000

1500 ~

1000

500 -

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

7.0

6.9 -

6.8 -

6.7

6.6 -

6.5 -

Warning: co

missing

—— PHO

10




Trend plot forP3-2_0

Warning: col ['minFVliraw',

"minFVOraw' ] is missing

minFVI
minFVO

0. 40

0. 35

0. 30 -

0.25 A

[ ] ETcAlraw
—  ETcAl
—@— ETcA

Warning: col [ ETcA2raw’ ,@®ETc

"]

is missing

0.4

0.6

0.8

0.8 -

0.6 1

0.4 -

0.2~

Warning: col [ ETcA2raw’, 'ETcA2avg’,

"ETcA2' ] missing

0.0

3000

2500

2000

1500 ~

1000

—@— ECopt
—0— ECI
—@— ECO

Warning: col ['ECC’] is missing

Warning: col ['PHC

missing

31.5 A

31.0 -

30. 5

30. 0 -

29.5

29.0

28.5

Warning: col ['WCperMraw', 'WCperMavg'] is missing

——

WCperM

0. 50

0. 45

0. 40

0. 35 A

0. 30

0. 25

0. 20 -

—@®— minDeltaM
—@— avgDeltaM
—@— stdDeltaM

30 A

28 A

26

24 -

22 -

20 -

—0—  begh
—0— maxM
—&®— minM

adjFVOR

-0. 02 ~

-0. 04 ~

Warning: col [ adjFVIRraw’,

"adjFVIR", "adjFVORraw'] is mi#sing

0. 650 ~

0. 625 ~

0. 600 ~

0. 575 A

0. 525 A

0. 500 ~

0. 475 -

0. 450 -

0.00000.;.Q........OOOOOOOOG

FRA
FRC
FRraw
FR

2.00

80 ~

70

60

50 A

40 ~

30 A

20 -

o postFgEtraw
—@— postFgEtavg
—@— postFgEt

10 -




FgDaily




P3-2_0

¥

)

PPPPP

[ / A '
N AN e N




.0
--0.2
-0.4
-0.6

© © < N o
— o o o o o
| |

913 #°P1°13 d°13 1d°l13 s!|2]3 oS3 013 !leq]3 yd adnd NA | d4dd 1 HY



300 -

250 -

200 -

ETcl

150 A

100 ~

50
e® ) ® L ) ° °

1600 -

1400 -

a® e

1200 -

ETol

1000 -

800 -

600 - o

[ ]
201 3§ o o 1 °0® o 1

18 e i ()] ]

164 @ - o |

@ ® )

70_ (] 1Te N

L)Y

65 PY b PY b
60 . .
°® o o

50 R R
45 - i

40 -

150 - : : : : :

125 - . . . . .

100 - ( - ® - [ J B ® B 1 (]

VN

50 - . . .

25 - . . .

350 ° . o ® % {eo . ° ° .

3251 @ o | Y ) ° Y ) ° °
300 A ® E ® - [} - ® -

[ 4
— 2754 © . . ® 1 ® .

250 : : : :

225 - . . . .
[ ] (] (] ® [ ]

2001 ® o 1o ° 1o ® . ° o o

T T T T T T T T T

100 200 300 750 1000 1250 1500 150 17.5 20.0 22.5 40 50 60 70 50 100 150 200 250 300 350
ETcl ETol T RH N |




1000 ~

800

600

400 ~

200

1.0

0.8

0.6

0.4 -

0.2

0.0

»
o

obs
Fit

50

100

150

baiA

baiB

0. 3796

0. 0055

0.0

0.2

0.4

0.6

0.8

1.

obs

160 -

140 ~

120 A

100 ~

80 -

60 -

40 -

20 A

1.0

0.8 -

0.6 1

0.4 -

0.2

0.0

Fit vs obs: a=0.41,

b=45. 03,

r=0.23

60

80

100
Fit

120

140

0.0

0.2

0.4

0.6

0.8

1.

0



hour

7:00

10:25

11:55

13:20

15:00

100

80

60

40

20



P3-2

BFE) | GEBERTIC (B0) | EB = (ZEH/#E) 5 R

07:00 98 50.0 ES FiHA@07:00 (KRFAfEREZE)
08:15 98 50.0 53] FiHAe08: 15 (KRF{EREE)
10:25 98 50.0 1] FnHfe10:25 (REERES)
11:55 98 50.0 [ FfAe11:55 (KRPHERSE)
13:20 98 50.0 Iz FiHAe@13:20 (KAL)
15:00 98 50. 0 & FiH#e15:00 (KRFEEREE)
Bit| 588.0 (6%) 300.0 3Z U KEC: 2000.0, PH: 6.0

#HEKRECE (2160.0 vs 2935.0) RS




P3-2_0, Day=16 (2025-04-14)

11620

0.4 4100
0.2 -
10
]

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

00

235

00

T
N
o
o

T
—_
o
o

FRV (ml d-1)

FRV (ml plant-1)
o
~
1

TargetEC=2300. 0, | TargetSetEC=2000. 0

©
(S
1

TargetPH=6. 5, TargetSetPH=6.0

e

o o

1
40 - :
1
1

ET (ml/hr/plant)

]
60 4 ByWoFv @Duﬁ 02:37: ET=235 Fg=300.0 Ro=56.0

40

T
w
o
(=}

T
N
o
o

T
—_
o
o

cumET (ml/plant)

0 |

—_

o0}
©

10

11

12

13

14

16

17

18

19

20

21

22

23

o

0 B [1w]

A

A

FA

A

A

A

E3
B

E3
B

=
B

£33
B

E3
]

E3
B

=
B

£33
B

E3
B

E3
B

0.6 1

0.4+

0.2~

SbOf
600
400

200 -

A

A Warking:,‘:ol Al o

, 'PPFD_obs’] is missing

25 -

20 A

15

o_obs' ] is missing

80 {

60

40 -

Warning: lcol ['RH_obs’,

"RHo_obs’] is miss]|

RH

0.2 0.4

0.6

0.8

1.

0

0






P3-2

BfE] | FEBRETC (F)) | EBRE (EH/HK) | XK R
09:35 90 50.0 e BR1%@09:35 (KAL)
=23 90.0 (13%) 50. 0 3ZGHIKEC: 2000.0, PH: 6.0

FEREHLEBRE STEIEARTF (58.0 :

OREBTRT A (90. 0) 5747 (100. 0) <7,

ZRIASPRIERE45. 0 ml.
#[EKECE (2205.0 vs 2870.0) RS

45.0), AIREHT—E XA 545

FIREH T % MR S X XER




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

FRV (ml plant-1)

P3-2_0, Day=15 (2025-04-13)

40 -

20 A

VI, VO2ERV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET
130

11610
il 100 o
38
I Warning: lcol [FVI',| "FVO’'] missing 10
[ ]

- 150

3
- 100

T
a1
o

T
w>
EN

—_

. v — M_E

=

T
w
N

T
w
o

28

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0, | TargetSetEC=2000. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

100 A

50

]
Bylnit @D16 02:37: ET=116 Fg=100.0 Ro=3.0

- 200

0 1 2

100

A | PA [ BA

50

Ln Vel

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

100

B | B | BH [ BA [ BA [ BA [ BA | BA | BA | BA | BH | FBH | B | BH [ BH [ BA [ BA [ BA [ BA | BA | BA |NE|NE|NE

- 200

]
ByWoFv @D1:6 02:37: ET=103 Fg=50.0 Ro=2.0

- 150

- 100

- 50

22 23

0.8

B | B | BH [ BA [ BA [ BA [ BA | BA | BA | BA | BH | FBH | B | BH [ BH [ BA [ BA [ BA [ BA | BA | BA |NE|NE|NE

0.6

0.4+

0.2~

0.0

1500 A

1000

500 -

—_—
[ ] | _obs
—@— PPFD obs

A A

30 -

20 A

10 ~

_ T
o T obs
o To_obs

‘Jt ® VP

M_E

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



31.5 4

31.0 A

30. 5

30.0

29.5 A

29.0

M_E

T
600

T T
650 700

m=570,m FV0=0

T
750

22 -

21 A

20 -

19 +

——

M_W

570

T
575 580

m=570, FV0=0

30. 2 A

30.0 A

29. 8 A

29.6

29. 4 -

29.2 A

——

M_E

T
570

T T
575 580

m=720,m FV0=0

22

21 -

20 ~

19 -

——

MW

T
720

T
725 730

m=720, FV0=0

30. 25 A

30. 00 A

29. 75 A

29. 50 A

29. 25 A

29. 00 ~

——

M_E

720

T
725 730

23
22 -
21 -
20 -
19 +
-o— MW
T T T T T
550 600 650 700 750

m







P3-2

BfE] | FEBRETC (F)) | EBRE (EH/HK) | XK R
09:15 120 50.0 e BR1%@09:15 (KAIEREE)
=21+ 120.0 (13%) 50. 0 3ZGHIKEC: 2000.0, PH: 6.0

FEREHEBRE STEERT (77.0 :

ZRIASEPRIERES9. 0 ml.
#EKECE (2215.0 vs 2905.0) RS

59.0), AIREERT—@%E XS
LRGERET4C (120, 0) 5788 (102. 0) °FF, FAEHR T S ARG EIRS 2 XER




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-2_0, Day=14 (2025-04-12)

40 -

20 A

100 A

75 1

50 -

25 A

1.0

V1, VE%BRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
230

154
111 130 118
70 75
I Warning: lcol [FVI',| "FVO’'] missing 3I8 I

T T
N w
o o
o o

T
—_
o
o

T =
w [(~)]
- N

NN]
130 2

- 29

28

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0, | TargetSetEC=2000. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

100 -

50 -

]
Bylnit @D16 02:37: ET=141 Fg=100.0 Ro=14.0

o—o—o—

Y~ S ->Y —

4 300

- 200

- 100

0 3 | 4

100 -

50 -

2] L] IR I

il o
bl

I
W RS
] P

1 6 7 9 16
S 0 I I T T I N R R R R R R R R

ByEt @D14 18:38: ET=95 Fg=118. 0 Ro=nan

®0
®*$
N

- 200

- 100

_—’T\—_
0 1 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 1 19 20 21 22 23

100 -

50 -

2
| 58 | 38 [F=|EFx(25|(%=|%=| B | B8 | BB | BH | B4 | BH [ BA [ BA [ BA [ BA | BA | BA | BA | BH | B | A

]
ByWoFv @Dqﬁ 02:37: ET=75 Fg=50.0 Ro=0

- 200

- 100

1.0

16 17 18 19 20 21 22 23

0.8

0.6

0.4+

0.2~

-] L] SR
w
S
3
o
~
©
©
-
o
-
=
-
)
-
w
-
E-N
-
2

1
I Fe|F2|(Z5 (5 (%= B | BB | B | BB | B | B | BA [ BA [ BA [ BA [ BA | BA | BA | BH | FH | A

1808 ;

750 -
500 A

250 -

—_—
(] | _obs
—@— PPFD obs

10

80

o T obs
o To_obs

—— RH o

604 @ RH_obs

40 ~

(] RHo_obs

hour

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



T
600

T T T
650 700 750

550
m=570,m FV0=0
- MW

23 A
22 A
21 A
20 A
19

T T T

570 575 580

m=570, FV0=0

30. 6

30. 4 A

30. 2 -

30.0 A

29. 8 A

29.6 -

——

M_E

570

T T
975 580

m=720,m FV0=0

24

23 A

22 A

21 -

20

——

M_Ww

720

T
725 730

m=720, FV0=0

30. 6

30. 4

30. 2 -

30.0

——

M_E

720

T
725 730

24 4 —o—

23 A

22 A

21 -

20 ~

19 +

M_W

T
550

T
600

T
650

m

T
700

T
750




hour

9:40

10:40

100

80

- 60

- 40

20



P3-2

BfiE) | GEBIET (D) | EHE (EH/ER) | XK R

09:40 120 50.0 |Z= Bi%@09:40 (KRFERSE)
10:40 120 50.0 |Z & B3i1%@10:40 (KRFERES)
23| 240.0 2%) 100.0 32 3KEC: 1975.0, PH: 5.8

HEARHERESFEEART (77.0 : 59.0), AaERF—w@EXAHS
LOREBIRTC (120. 0) 578 (102. 0) 4F, FIREH T % MR ERS % XEH
BRI\ L FRIERES9. 0 ml.

#HEHRECE (2215.0 vs 3015.0) RS



P3-2_0, Day=13 (2025-04-11)

V1, VG8ERV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET - 400
40 250 308 -
- 300 1
230 36 =~
£
20 1 fr32 f198 —200:
o
70 91 4o &
Warning: lcol [FVI',| "FVO’'] missing I I
100
(v
I 75 4 FRV
C
S
Q B e e e e e e
E
Z 25 POVt .
& S P
1.0
0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
0.0
o5 TargetEC=2300.0, TargetSetEC=1975.0 t
0.6 -
0.4 -
0.2 -
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=5.8 N
0.6 -
0.4 -
0.2 -
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0
100 1 : : 4
= Bylnit @Dhﬁ 02:37: ET=136 |[Fg=150.0 Ro=27.0 - 300
c 1 c
s 75 1 =
< ! - 200
< 50 A i E
E ! —
o 25 ! - 100 W
i —e—o—+o 3
i S — S |
1004 0 1 2 3 ] 5 6 7 8 9 [ 10 11 [ 12 ] 13 14 15 16 | 17 [ 18 ] 19 [ 20 [ 21 | 22 | 23
P E2-3 E2A 2 I P
c 1 c
< 757 ByEt @D13 18:12: ET=127 Fg=236.0 Ro=nan e e © o e o e o o o 2
S : - 200
< 50+ el o o o e o £
= I 100 i
— 251 i E
i ——0——0—0—0— ] 3
i - o BB P I ——— 1 0
1004 0 1 2 3 ] 5 6 7 8 9 [ 10 11 |12 ] 13 14 [ 15 16 [ 17 [ 18 | 19 [ 20 [ 21 | 22 | 23
) ERFNER S E S EESEXSNL GHEREAREEERARE 5 & & FH FA BH |/ |/vfa| FA [A A FH | 300
c 1 c
= 759 ByWoFv @16 02:37: ET=97 Fg=100.0 Ro=12.0 =
1 o
< ! L 200 X
< 50 A i E
- 1
= ! 100 i
i o ——+© 3
1
1
O 12 T3
Qg_gﬁ XN EF S EZTSEXRS N GHEREAREEERARE 5 & & FH FA BH |/ |/vfa| FA [A A FA
0.6 -
0.4 -
0.2 -
0.0
—_— 4
[ ] | _obs
1000 -

500 -

—@— PPFD obs

4 e vpD P




33.

33.

33.

33.

32.

36

34

32 -

30 A

550

T
600

T
650

T
700

T
750

m=780,m FV0=0

T
800

——

M_E

780

T
785

T
790

m=720,m FV0=0

23 A

22 -

21 -

20 A

19

——

M_W

720

725

730

30.

30.

30.

30.

29.

29.

m=570, FV0=0

——

M_E

570

T
575 580

23 A

22 -

21 -

20 -

19

18 4

17

M_w

T
550

650 760 7éO
m=780,n FV0=0

T
600

T
800

23 -

22 A

21 -

20 A

——

M_W

780

785 790

m=660, FVO0=0

35.5

35.0

34.5

34.0

33.5

——

M_E

T
660

6é5 6%0
m=570,n FV0=0

22 -

21 A

20 A

19

18

——

M_W

17

T
570

575 580

m=720, FV0=0

36. 2

36. 0

35. 8 A

35. 6

——

M_E

720

755 750
m=660,n FV0=0

22 A

21 A

20

19 +

18

——

M_W

660

665 670




hour

9:40
12:25
1 1 1 1 1 1 1
‘/

4 @%f%
@

100

80

60

- 40

20



P3-2

BfiE) | GEBIET (D) | EHE (EH/ER) | XK R

09:40 120 50.0 |Z= Bi%@09:40 (KRFERSE)
12:25 120 50.0 |Z=& Big012:25 (REERSE)
23| 240.0 2%) 100.0 3203 KEC: 1900.0, PH: 5.8

HEARHERESFHEART (77.0 : 60.0), AaERF—@EXAHS
LOREBIRTC (120. 0) 5F7#A (100. 0) 4F, FIREH T % MR ELS % XEH
2RI\ SLFRIERE60. 0 ml.

#HEHRECE (2190.0 vs 2935.0) RS



FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-2_0, Day=12 (2025-04-10)

VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 385 L 400
40 - 00 -
290 300 T
231 _
180 L 200 2
20 132 121 =
97 o
80 L 100 &
I I Warning: lcol [FVI',| "FVO’'] missing
100 + -0
WE #40.0
-37.5
- 35.0
F32.5
-30.0
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2300. 0,  TargetSetEC=1900. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=5.8 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
%8 1 i 4 400
Bylnit @D1:6 02:37: ET=112 Fg=100.0 Ro=16.0 o
75 ! &
1 - 300 =
l S
50 1 : L 200 E
1 ° =
25 1 : S} - 100 §
2 o Lo o .
108- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 L 400
5 | i | g | Bg | g | G| G| BE | G | P i 5 5 5 i 5 5 5 i 5 5 5 i 5 o~
. 1 c
s ByEt @12 18:08: ET=148 Fg=295. 0 Ro=nan & e & e ‘: e & e & © - 300 L;_
~
1 —_—
50 - | - 200 E
' o—o—o 5
25 - - 100 §

o

S —
10830 ] 1 2 [ 3 4[5 [ 6789123141516 171819 ]2 [21]22]2]
BB | B | B | |B IZ5|25| % (BT |25 |25 |37 (25|25 |55 B (BT |25 |25 |25 H | | B [$=

1
ByWoFv @D1:6 02:37: ET=121 Fg=100.0 Ro=20.0

S
(=}
o

75 A

T
w
o
o

N
S
S
cumET (ml/plant)

50

ET (ml/hr/plant)

25
1.0 2 2

0.8

T
—_
o
o

o

0.6

0.4+

0.2~

0.0
1500 4

—_— 4
[ ] | _obs

1000 ~ —@— PPFD_obs

500 A

RH
[ ] RH_obs
204 @ RHo_obs




39.

39.

39.

39.

39.

39.

39.

40 A

38 A

36

34 -

32 -

660 760
m=720,n FV0=0

T
800

—o— M_E

7é5
m=600,n FV0=0

T
730

24

23 -

22

21 -

20

19

—0— MW

605

610

m=510, FV0=0

32. 50 A —o—
32. 25 A
32.00 A
31.75 A
31. 50 A

31. 25 ~

M_E

510

5%5
m=780,n FV0=0

T
520

39.7 A

39.6 -

39.5 A

39. 4 -

39. 3 A

39. 2 A

——

M_E

780

7é5
m=660,n FV0=0

T
790

24

23 -

22 -

21 A

20 ~

—— MW

660

665

670

m=600, FV0=0

37. 4

37.2 -

37.0 -

36. 8

36. 6 -

36. 4

- ME

600

605

610

24 -

22 A

20 A

18 1

—— MW

660 760
m=720,n FV0=0

T
800

23 A

22 -

21 A

20 -

—— MW

720

725

730

38.

38.

38.

38.

38.

38.

38.

m=660, FV0=0

—o— ME

660

665
m=510,m FV0=0

T
670

23 A

22 -

21 -

20 -

19 +

18 1

—— MW

510

5%5
m=780,n FV0=0

T
520

23 -

22 -

21 -

20 -

—o— MW

780

785

790




